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LIFE SCIENCE 

LSE-10 : ANIMAL DIVERSITY-II 

Time : 3 hours 	 Maximum Marks : 75 

Note : Question no. 1 is compulsory. Attempt any six 
questions from questions no. 2 to 8. Draw diagrams 
wherever necessary. 

1. (a) Define the following terms : 
	 3 

(i) Blood islands 

(ii) Axon 

(iii) Median eye 

(b) Differentiate between the following : 	8 

(i) Contour feather and Flight feather 

(ii) Pectoral girdle and Pelvic girdle of 
Rabbit 

(iii) Langerhans cells and Islets of 
Langerhans 

(iv) Grey and White matter of Brain 
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(c) Give the location and function of the 
following : 	 4 

(i) Vomerine teeth 

(ii) Gizzard 

(iii) Thyroid gland 

(iv) Uropygial gland 

2. (a) Describe in detail the respiration in 
amphibians. 

(b) Comment on the statement 'Mule is a man 
made ungulate'. 	 4 

3. Describe the phylogeny and succession of 
kidneys in vertebrates, with suitable diagrams. 	10 

4. (a) Explain the mechanism of bioluminescence. 	5 

(b) Write a short note on altruistic and 
cooperative behaviour of animals. 

5. (a) What is a Lymphatic system ? Describe the 
lymphatic system in mammals. 	 5 

(b) Explain the feeding mechanism in fishes. 	5 

6. (a) How would you differentiate a poisonous 
snake from a non-poisonous snake ? 	5 

(b) Describe the different types of vertebrae in 
vertebrates. 	 5 
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7. (a) Why is Sphenodon called a living fossil ? 

Describe the salient features of Sphenodon. 	5 

(b) Justify the statement "Dipnoi fishes are 

air-breathing forms and only three genera 

represent them". 	 5 

8. What are the characteristics of Hemichordates ? 

Write the affinities shown by hemichordates 

with the following phyla : 	 10 

(a) Aruielida 

(b) Pogonophora 

(c) Echinodermata 
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